S8550(PNP)

TO-92 Bipolar Transistors

D UGE HRoHS

1. EMITTER TO-92
2. BASE 445
3. COLLECTOR 5.21
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Symbol Parameter Value Units ;
Veso Collector-Base Voltage -40 Vv 192,03
2.67
Vceo Collector-Emitter Voltage -25 \Y JT ‘ﬁ
VEeBO Emitter-Base Voltage -5 \% %
Ic Collector Current -Continuous -500 mA
o Dimensions in inches and (millimeters)
Pc Collector Dissipation 625 mw
T Junction Temperature 150 °C
Tstg Junction and Storage Temperature -55-150 °C

ELECTRICAL CHARACTERISTICS (Tamb=25°C unless otherwise specified)

Parameter Symbol Test conditions MIN TYP MAX UNIT
Collector-base breakdown voltage V(er)cBO Ic= -100uA, Ig=0 -40 \Y
Collector-emitter breakdown voltage V(@R)cEO Ic=-1mA, [g=0 -25 \Y
Emitter-base breakdown voltage V(BR)EBO le= -100UA, Ic=0 -5 \Y
Collector cut-off current Iceo Vce=-40V, 1g=0 -0.1 UuA
Collector cut-off current Iceo Vce= -20V, 1g=0 -0.1 UuA
Emitter cut-off current leBO Veg= - 3V, Ic=0 -0.1 UA

hreq) Vce= -1V, Ic= -50mA 85 400
DC current gain
hre(e) Vce= -1V, Ic= -500mA 50
Collector-emitter saturation voltage VcE(sat Ic=-500mA, Ig=-50mA -0.6
Base-emitter saturation voltage VBE(sat) Ic=-500mA, [zg=-50mA -1.2
Transition frequency fr Vee=- OV lo=-20mA, 150 MHz
f =30MHz
CLASSIFICATION OF hreg(y
Rank B C D D3
Range 85-160 120-200 160-300 300-400

—http://WWW. |gesem | . C O 1
Revision:20170701-P1 mail:lge@Ilgesemi.com


Administrator
新建图章


S8550(PNP)

. L TO-92 Bipolar Transistors
A LGE @ RoHS

COMPLIANT

Typical Characteristics

E To=-30Cu E mm! | Vese o1V 1
= T | T ) ]
=-3h) 1 1]
§ ] v %
% /,.-/ #‘.._h___,. le=-200u) E
© el _ =
IG 1 [e=-1500A, g
i —— - - T e
j 2 lp=-100uA > "M__\
0 [—— o T
o | 3 AN
EI —"| la=-a000A q
£ 10 [—— s
EI’ " L
€ -1 20 a0 -40 50 ﬂtm -100 000
Ve (V),COLLECTOR-EMITTER VOLTAGE Ic{mA),COLLECTOR CURRENT
Static Characteristic DC current Gain
% -1 T I — }i:_) 00 —
s —— o —Voe=-8V
o Wez(sat) o
0 Tt 17" i
g 1 &
z T
o L1 = - -
E .............................. AT E 100 ,—-:-'“"". = 1 i
S -1 / g 1 | h‘?
= Vo {sal
< 2 5
= . |
3 o §
& e =
w i L
[ o 1
.:-:}-:- =101z % n— — RN S ¥ AR KON T R T N S - .
T [ o |
= 100 1000 g 10 1 1000 10000
o I
= Ic (mA), COLLECTOR CURRENT % lc{m#), COLLECTOR CURRENT
Bace-EmRier Saturation Valtage Current Gain Bandwidth Product

Collector-Emitter Saturation Valtage

—http://WWW. |gesem | . C O 1
Revision:20170701-P1 mail:lge@Ilgesemi.com


Administrator
新建图章


